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[ CES7HE 2R WEX| AH] 24| 22,000,000 22,000,000 0
CHESVIE RWEX|E AtY| 22,000,000 22,000,000 0 0.00| AbiH 22,000,000
SHA =X SHHSFSX| @ At 24 3,880,000 3,880,000 0
Al SHHS|FSK|Y ALH| 3,880,000 3,880,000 0 0.00[ AL H| 3,880,000
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ofECI2 =3 OIECI2 38 22| =35171F AMYH| &4 13,800,000 13,800,000 0
FEISTIIE ArAH| OECI2EM Q2| =87t SAIYH| 13,800,000 13,800,000 0 0.00[ AF1H| 13,800,000
CH2$}XHA Ct23HXtY SHE S ArdH| 23| 8,000,000 8,000,000 0
SHESRIXE AL CHE3IALY $H2EHEX| AMRH] 8,000,000 8,000,000 0 0.00[ AF1H| 8,000,000
E_E_i u%xo °EI:’|—|AI '6'IE.|5":|||E
Ch2st o2k S oAy L‘TMOJIEA;TE(E° ) 20,000,000( 20,000,000 0
°IE=I—|AI ‘o‘lEI?EIIIE AFSH TFESF O ATS (22l A (eraayamyAFH
ClERRUETAI)MUH RIS N Em dEETEEN 20,000,000 20,000,000 0 0.00[AtQIH| 20,000,000
OlO| S O] X270 AriH| A7 27,000,000 27,000,000 0
OlO|E O] X271 ArRiH]|
ofo| =& 0| X 7HM AreiH| 27,000,000 27,000,000 0 0.00|AFRIH| 27,000,000
IR RS HEXNEEETH 8% 15 000000l 1
chte X245 3552 AriH] A7 >000000) 15.000.000 0
o217 29X Ay | TS AT FEXNEEZIY 2EX Y
= BxE Al I7he AT AFLHI & 15,000,000f 15,000,000 0 0.00| A€ H] 15,000,000
=
CI2SH7FE XA X AFAH] 24| 72,312,550 0 A72312,550
T2 A XA ALY| 12,000,000 0 A12,000,000] A100.00|72MH 0
CHES7IEXE X Y ALY H]
X5 XMt 7| X8t X9 AH| 11,000,000 0 A11,000,000] A100.00|7|XsH&X| 0
MAS CHESHAHY n|ES AYH| 49,312,550 0 A49312,550] A100.00|SEZH| 0
OlO|ERO| UYMW AHH| 24| 3,836,410 2,936,393 A900,017
OlO| S O] YH WK ALRH]|
Ofo| =& 0| WKH| gz AMRIH| 3,836,410 2,936,393 A900,017| A2346|0l0|EHOIFHLE 2,936,393
MSAL TF AHUH] 24| 0 0 0
MSAL TAF AFAH|
MEAL ZRF ALRH| 0 0 0 0.00
7t ME QAH|(XEA)X| Y AFRIH] A7 46,128,000 51,926,400 5,798,400
QIZH|(XHH|) x| @ AtH|
715 ME QA ZH|(XHH) XA AfH]| 46,128,000 51,926,400 5,798,400 12,57 dIE & Q1| 51,926,400
QIAH|(EX|ZEQAE)X|J AtHH| A 10,500,000 10,500,000 0
QIAHH|(BX|ZEQAE)X|H ArRiH|
OIHH|(FX|Z QI E)X| 3 AtHH| 10,500,000 10,500,000 0 0.00[EX[Z2E 10,500,000
1017t X AFAH| AfiH| 27| 10,000,000 10,000,000 0
1017t X AfAH|
1Q07F X[ AL 10,000,000 10,000,000 0 0.00|AFRH| 10,000,000
AR5 X 7| S (M 20l AIH] A7 0 0 0
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A EX| 7|2 (D 20%H At 0 0 0 0.00|X| 2 2Z ALY 0
ISR 23 AFAH| A4 0 425,144 425,144
- = = e = [=] I_'é_ [=] (E%ollil_lxl"l'lcéllI NS
59|32 A
x| 21) A Q1] 0 425,144 425,144 0.00|X| EZZ ALY 425,144
SHZ ArH| 24 1,579,028 3,036,620 1,457,592
N AEZAZ M| 1,548,864 3,003,734 1,454,870 93.93|X Y= 2 3,003,734
S ALY
N HIXIE2 ™A= 28,886
HIX|S 242 AlH| 30,164 32,886 2,722 9.02
O| Xt 4,000
HXE24 1,310,650 811,979 A498,671
Hx|E HX|E 24 1,310,650 811,979 A498,671
Hyx|E
Xz 1,310,650 811,979 A498671 A3805|MEEX= 811,979
ofiH[H] & 7|E} 392,446,372 514,379,292 121,932,920
oflH[H] S 7|E}F 24| 392,446,372 514,379,292 121,932,920
7tEH 13,772,424
Feke|7| 12,217,743
nEAE 246,387
CHESIE S} 9,412,771
3550} 626,202
Olo|E& 386,263,255
o3gg 2,549,359
X 7,591
MA elo)d 160,803
KAt H 274 M 266,594
ZZ0|XYZHE 14,651
CHESAtE 2 S X & 5,625
2HHY 1,407,284
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Rt ot=ce sy 17,098
7| e} OffH|b] 3L 7|EL o] 3 7|Eb(HEEHT) 392,446,372 514,379,292 121,932,920 31.07|CHR3IRHE SHE2EHS K| K| LAY 5631,816
CHE2IHE X923/ 9,168
OFEX|& 28 ud 615,712
LH7te A4S 9,737
1217t 47,220
O0|&& XN7HM 4,155,156
CHE 27 S RHA K| 76,664,742
BT AT B 2 ALY 1,000
A2l = X173 (20T 257,125
21 A H| (RtA) X[ & 15,114
AIHH|(SX|ZAEYX| 2 1,224
AlO|EHA 1,275
O|RAYLt=E7a 216
ME QT2 (AlH]) 1,000
ME A2 (KR E) 1,000




